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Subject Paper 2 Shift- 3rd

Name

Roll No 1

QID : 751 - According to Erik Erikson's Stages of Psychosocial Development, which one of the
following basic virtues does an individual acquire during the adolescent years upon successful
completion of the stage?

AR IARARE AIGTR SRId 9ad AgAIER, @6SINRTI ATH NI6E A°Yd 6291T6Q ENET QaF AIER
FIRYO FRIQ 62 60100 JEIgEY 6QHIg FRaa?

Options:

1) Competency
el

2) Fidelity

A g& Fal

3) Purpose
QEWN

4) Wisdom
Q&G

Correct Answer: 2) Fidelity
A’y ge Qe

Candidate Answer: 3) Purpose
QELY

QID : 752 - In Jean Piaget's theory of cognitive development, Concrete operational stage
corresponds to ages:

a7 d2Ieeq & ARAR ARG ANITEQ, 2R FITIATNIC Qg QO ATG 691R HIRAIN |
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Options:

1) 510 9 years
599ad
2)2to 7 years
2Q7 99

3) 7 to 11 years
7Q11ad

4) 12 to 18 years
12Q18 Q9

Correct Answer: 3) 7to 11 years
7Q11ad

Candidate Answer: 4) 12 to 18 years
12 @ 18 o4

QID : 753 - Jean Piaget's theory of cognitive development suggests that children move through
different stages of mental development.

ARAEER QIR SRITR FER 04 6QQ IT FR2IE 6QIR &] TERY & ARINR G186 IR
QdlIReIg?

Options:

1) three
oa

2) four
QIR

3) five
alg

4) six
22

Correct Answer: 2) four
QIR

Candidate Answer: 2) four
QI

QID : 754 - Who among the following disagreed with the idea that intelligence was a fixed trait,
and regarded cognitive development as a process which occurs due to biological maturation and
interaction with the environment?

FANGE FUQ & QEAG! @ QD AAVE 26T 6RIR UARES Z6M N9 ARIAR TRIS P G QU6 QIR
6600 A0AQEl Ye° AG694 ATG AR QIRIQ AT 6RIR @ERR?
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Options:

1) Sigmund Freud
d98 e

2) Erik Erikson
AR A=l

3) Jean Piaget
@Q J26a9

4) B. F. Skinner
Q.NZ.20Q

Correct Answer: 3) Jean Piaget
@Q J26e9

Candidate Answer: 2) Erik Erikson
QR 9ARAQ

QID : 755 - Language, religion, custom, tradition etc. form a part of which one of the following?
QIS AF, AYE, AR RRUIG AR AV AR RE I/ QB2AIT?
Options:

1) Social environment
AATS A4

2) Natural environment
J19oe 9a6Q4

3) Nature

990

4) Heredity

Q°IGGe

Correct Answer: 1) Social environment
AT A6

Candidate Answer: 1) Social environment
AT ARER4

QID : 756 - Why should the teacher have the knowledge of heredity and environment of his/her
students?

@641 FVRTQ Q°9IGYF B GIF BIGTIFIFA UGERE TUACA FIF QYR FITF AULGS?
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Options:

1) so that the teacher knows the achievement potentials of the student

QIRIFIAE 96 INTQ VG ARILRIQ FISARE

2) so that the teacher knows the spending abilities of the student

AIRIFIAUR 990 AT 6Q66 AFIY QAVNRER RISIAIRAES

3) so that the teacher knows the varying needs and abilities of the children

QAIRIFIRIR S8e IRGR fan 9IGal 8 AIfelicl faA6Q FITARER

4) so that the teacher can decide whether he will be suitably compensated by the child's parents
AIRIgIAR d9e dRGg deIFviE FIl O] RI6R 2IIAR FUARIGS @1 QIF el fda @RARER

Correct Answer: 3) so that the teacher knows the varying needs and abilities of the children
QIZIFIAUR 990 IRTQ F6R 0134l 8 ANIG FTAEQ FITAIRER

Candidate Answer: 1) so that the teacher knows the achievement potentials of the student
QIRFIAT 96 INTQ VG ARILRIQ FISARE

QID : 757 - Who among the following was the first psychologist to make a systematic study of
cognitive development?

FIRYS FRIQ 606 AERITRIGT J2I6F ARIAR FRIFQ IR IQTE AIAS RGY6R?
Options:

1) Sigmund Freud
Jors gee

2) Erik Erikson
QR 9ARAQ

3) Jean Piaget
oq JeIeas

4) B. F. Skinner
Q.4%.30Q

Correct Answer: 3) Jean Piaget
@Q J26e9

Candidate Answer: 1) Sigmund Freud
JACE gae

QID : 758 - Which one of the following helps the teacher provide better learning environment in
the school?

YNEQ FRRG FANYE FRIQ K4l IR JJENG ARERE AR *ARI6Q ARIG! *@QEIN?
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Options:

1) knowledge of parents' income

JRRUIRE 2P QAR RKI

2) knowledge of students' heredity and environment

FIGQ °F IQ° TRERE AUER RIR

3) description of each student's height and weight

J6RUR 8GR ARV IQ° 3R FAQ4!

4) Knowledge of where each student lives and the number of rooms in his/her house
6049 819 69R0I6Q I9° 6260IF 6210Q1 Al A6a 6A7I6R Qe

Correct Answer: 2) knowledge of students' heredity and environment
IGQ °8 IS° JRERY AU6R RIQ

Candidate Answer: 2) knowledge of students' heredity and environment
FIGQ °8 IS° JR6RE QU6 RIQ

QID : 759 - To Piaget, cognitive development was a progressive reorganization of
as a result of biological maturation and environmental experience.

Jdeleeee F196Q, 6350 JAURE! I9° JG6Qd AATE AQRGA JASIALQA ARG TR Q
9 gaIGeIR gReos JmI?

Options:

1) innate abilities

PRQFIC JC!

2) cognitive skills
ARIAR 66

3) mental processes
A3 9ol

4) socially-learned skills
AAIFQ FHeII 6RlSR

Correct Answer: 3) mental processes
Aieda gaal

Candidate Answer: 4) socially-learned skills
AAFQ YR 616

QID : 760 - Which one of the following is NOT a stage of Cognitive Development as proposed by
Piaget?

FIRYG FRIQ AR FRIHQ 629 998 TEFT & TV YIS FRAUAIRRYRI?
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Options:

1) sensorimotor
646QINECTRY

2) preoperational
atdlalyatel=al

3) concrete operational
AT AACAARIR

4) informal social
QRTAIR 62T2AIRN

Correct Answer: 4) informal social
QRAFIR 6QF2IN

Candidate Answer: 1) sensorimotor
646QINECNTRY

QID : 761 - ensures that pedagogical approaches meet the educational needs of
each and every learner including learners learning with different paces and the learners with
special educational needs group.

2l ghdle @GN 64 SR8 QRERISgER J6Ge FRew SRl IRaIRaIgeq gl @telN,
69€26Q Fan 6060 YRl RS e F68 Al 2SR el AT 691T1 29S|

Options:

1) Affirmative action
AR NNGIIQ

2) Social learning
TR S

3) Inclusive education
QAT al

4) Discovery learning
AVNRRR S

Correct Answer: 3) Inclusive education
QARG S

Candidate Answer: 3) Inclusive education
QARG S

QID : 762 - is the memorization of information based on repetition.

6208 gaaIga ARIGER ORI 908 KGal |
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Options:

1) Meaningful learning
2egd asl

2) Rote learning

8 @Gl a3l

3) Social learning
AT S

4) Imitative learning
Qa4 a3

Correct Answer: 2) Rote learning
788 *aQ! SRl

Candidate Answer: 3) Social learning
TR S

QID : 763 - According to the The National Curriculum Framework 2005, which of these is the
characteristics of inclusive education?

FIB12 AUCHFE AR (UIAFIN QA 6771ER) 2005 2QAI6R, NYEFR FIQ @8 AFRE FAIQ 9@ 6398
2667?

Options:

1) Make provisions - not restrictions adjust to the needs of the child
AI9Q8 GRIR RAQ-20R4I g6L-INITA 2IRFIRS! AQACR 4GS 2G4
2) Use a white board wherever possible

699016Q AAR IR AR 691 RIQ AR

3) Use audio-visual media in all schools

AL YMER AGB-Ggeim {52 QIeLIq @AQ!

4) Make mid-day meals in school campus

M A0AR6R FiQ-69 AN g6 @aQ

Correct Answer: 1) Make provisions - not restrictions adjust to the needs of the child
AI9QE 2R FAN-ACRE Z62:TNTA IRHIAG! AFAIER MTS FFQ

Candidate Answer: 4) Make mid-day meals in school campus
Ym AAAR6ER F1@-6@ Fnd dge *aa!

QID : 764 - Robert Kegan developed a theoretical framework that posited levels of
meaning-making

QARG 699 IR GIRR QIBIQ GRI8 Aden AIgl 22 Fdlaa 3§ 2@ 9ge @dalN |
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Options:

1) two
a6

2) three
F6RIG
3) four
QleQUT
4) five
B[

Correct Answer: 4) five
aAIEG

Candidate Answer: 3) four

QleQUG

QID : 765 - Inclusive education is committed to physical, social and attitudinal
barriers.

QARRS Gl SIQ10@, AR IS QLR AL QRIGER 96 JGgEeR 26T |
Options:

1) enhancing
QIR

2) multiplying
Qi 9F @G
3) reducing
AA K}

4) ignoring
21693 @Qa!

Correct Answer: 3) reducing
QA K}

Candidate Answer: 2) multiplying
Q3 Q& QA<

QID : 766 - Which one of these schools of thought is associated with the concept of "learning as
meaning-making"?

1gFR FIQ 699 FRIAIR "22-G¢I¢ fl6a Ja1 " QRend AT A°qB Q@87

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




10/8/2019 Odisha Teacher Eligibility Test
Options:

1) Constructivist
Slelziglale)

2) Cognitivist
6QIIEIB A°QIBTA
3) Behaviourist
RLIQ Y1
4) Gestaltist
60RING

Correct Answer: 1) Constructivist
Slelziglale)

Candidate Answer: 2) Coghnitivist
EQRIGT A°QIR1E

QID : 767 - Which of the following can a teacher use to address the learning needs of her visually
impaired students?

@64 S8 599 QAR SIgw ARIRS! 9AI ARSI AIR FIRNYS AU A8 QRLIQ FRAIGER?
Options:

1) Hearing aids

TR 9@

2) Braille equipments
69M1 QURXAS

3) Visual boards
052N 6916

4) Assisted reading
21deaR aG°

Correct Answer: 2) Braille equipments
69N RUKRAE!

Candidate Answer: 1) Hearing aids
TR 9@

QID : 768 - Physical inclusion includes which one of the following?

AR AFRFER FINYS FIQ AE ASHB QF2AN?
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Options:

1) infrastructure and resources
QPR 4Q° Q?]%l@@

2) social groups

AT 691S1

3) cultural groups

ArYGR 6011

4) racial groups

FIBAS 691|1

Correct Answer: 1) infrastructure and resources
Qe 9Q° Q?]?%l@@

Candidate Answer: 1) infrastructure and resources
QORI 49 ARG

QID : 769 - According to whom "every function in the child’s cultural development appears twice
first, on the social level, and later, on the individual level, first, between people (interpsychological)
and then inside the child (intrapsychological)’?

@2l 29A6R "TANINT APYER FRIF6R Y64 AN @RAIQ 6QFAIRAN : AL, AT FA6R, Ia° A6Q
QITCG YA6Q ; JAI6E QRRE B F1IEA (ALAARERIERITRIN) IS° A6Q TRIT QSR
(QYARERCRTRIN)"?

Options:

1) Lev Vygotsky

6RQ ARG,

2) David Premack

6ROR 690IR

3) Josef Perner and Heinz Wimmer
69169 99Q 99° 2R GAQ

4) E.L. Thorndike

Q.M 62186@

Correct Answer: 1) Lev Vygotsky
6N ARG,

Candidate Answer: 3) Josef Perner and Heinz Wimmer
69164 UAQ 9G° A GAQ

QID : 770 - holds that people try to determine why people do what they do,
that is, interpret causes to an event or behavior.

21 922N 60 6RINFIER 2! FRIGE FRRIQ 698 RGRIR 64 I2Iq 627ER FITD
QQ2IB, QI2Ig 6x16d QAEl Fl QIR RIQAEQ SIS FAULIRAN |

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

10/71



10/8/2019

Odisha Teacher Eligibility Test
Options:

1) Classical conditioning
QAR QEAG

2) Attribution theory
EQuQq e2lIN

3) Experiential learning
EAGEAYIR RUG°

4) Operant Conditioning
6L @EAT°

Correct Answer: 2) Attribution theory
GQuQq s2lIRN

Candidate Answer: 2) Attribution theory
Gy caliat

QID : 771 - Who classified domains of human learning into three parts — cognitive, affective and
psychomotor as educational objectives?

S8l QERE QA IS FYI FRG FERIT QTR & FOB FAYEN-YILIF LFIAR, ASAAR I&°
F6R15621?

Options:

1) Benjamin S. Bloom
6Q&NIAR 1 Al

2) David R. Krathwohl
6R0R QIeain

3) Lorin W. Anderson
6MIAR GQY IFAR

4) Norman L. Webb
dIq YR, 66

Correct Answer: 1) Benjamin S. Bloom
6Q&NIAR 9 Al

Candidate Answer: 2) David R. Krathwohl
6R0R QIeain

QID : 772 - In which learning process are learners actively involved in the teaching-learning
process?

J91-5691 9FAIQ 609 9FI6a JaIch AGH QU6 A°YS ARLUG?
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Options:

1) process-centred approach
Jaal-6agie 93614

2) content-centred approach
GY0eg-6a51e QT6RI4l

3) learner-centred approach

JQId-6ag1e Q86Id

4) teacher-centred approach
SI9R-6ag1a 986l

Correct Answer: 3) learner-centred approach
daieh-6a919 Q86aId

Candidate Answer: 1) process-centred approach
Jaal-6agie 93618

QID : 773 - is defined as a systematic process of collecting, analysing and
interpreting information to determine the extent to which pupils are achieving instructional
objectives.

@ N2IQ GFIRS ARSI, F6YTE IS° I FARIQ IR MSAG I VUFER RIS
RAULIAEG 69226Q SISTIEE F6LIINR ARG UIT FRAIT |

Options:

1) Education

S

2) Evaluation

JISE *AS

3) Faciliation

Qo @RaI QIdy

4) Curriculum designing
AI0YIFE ILL KRR

Correct Answer: 2) Evaluation
JRYISe @GS

Candidate Answer: 1) Education
S

QID : 774 - The process of systematically gathering information as part of an evaluation is known
as:

JRYIFRQ Z°8 QIFER UQAG QIR ORI IQQ AR YTAG ... 601 QRIYIRAIN?
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Options:

1) assessment
Ry AEI0E K84
2) assignment
JRIRG @A

3) verification
Qg @Al

4) education
Sl

Correct Answer: 1) assessment
Ry AEI0E K@<

Candidate Answer: 2) assignment
JRuIge @RS

QID : 775 - The purpose of is necessarily to improve the teaching-learning process
by being able to review the objectives that have been identified for different stages of learning?

Q Q6R FYAIQ FER 6QITIE AR F26 FAULIR Y9 AAIQ YAASIA FIIFER FFRI 8 FHIQS!
JRUEQ ARG 2SI

Options:

1) analysis

@6QQsl

2) assessment
daea

3) extended learning
AHAIAL S

4) discovery learning
AW 0@ G

Correct Answer: 2) assessment
dlaee

Candidate Answer: 3) extended learning
AHQAIRG S

QID : 776 - Bruner's stage, involves the encoding and storage of information
where a direct manipulation of objects occurs without any internal representation of the objects.

9690eQ 6QITIR 6 2UEF YOFI G 691Q QB AR FTS QY 2R 69RY6R @ I 9 Q USRI
geaNeg @ 62Ia QAR 22689 61NN |
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Options:

1) discovery
TR

2) symbolic
oINS

3) enactive
o[lo}

4) iconic
1BV Qd

Correct Answer: 3) enactive
AGa

Candidate Answer: 3) enactive
o[alo)

QID : 777 - Who among the following viewed learning as the process of "meaning making"?

IAIRE €1l @ @ JYRISIR 22 QLI FRRIR IR IFAH 6QIR 2RI *R6R |
Options:

1) Jean Piaget
& daIees

2) Erik Erikson
Q@ 1Q@6QIR

3) Jerome Bruner
6E6U QAR

4) Lev Vygotsky
6AQ QIRETNTR

Correct Answer: 4) Lev Vygotsky
6AQ QIREANTR

Candidate Answer: 1) Jean Piaget
@q geIees

QID : 778 - The curriculum assumes that knowledge is transmitted
directly from those who have it to those who don't.

QIOYFE UAE 64 BIQ AFER6R 6JRCN6R RIFT 6AANAT TSR 6IRFGT AR RS QI
6QCIRE ISg 9eIZe g9
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Options:

1) subject-centred
Q-G

2) teacher-centred
JR-6a5a

3) discovery-learning
2ARWQ R Jl

4) learner-centred
JQIe-6559

Correct Answer: 1) subject-centred
FYA-6RGR

Candidate Answer: 1) subject-centred
Q-G

QID : 779 - Learning objectives of which one of these are observable, can provide learning
evidence and can be recognised?

42l Y Q 699 FVIQ AERE UGS FAUARAI6R, FYAIQ I 6QAAIGR, 98 Y21 ARG GAAAIR G
?

Options:

1) content-centred approach
FURRY-6aLP ARG

2) subject-centred approach
FVA-6aG9 ARG

3) learner-centred approach
JQIe1-6559 aRE

4) teacher-centred approach
JVR-6RFP ARG

Correct Answer: 3) learner-centred approach
JQIe-6559 avG

Candidate Answer: 1) content-centred approach
FUNRG-6aLP ARG

QID : 780 - refers to "the steps taken to reduce the degrees of freedom in
carrying out some task so that the child can concentrate on the difficult skill she is in the process
of acquiring".

6@604@ QIdig @69 QIR 818 AR QALK VIR IR6R LA FGR! AR F2Il AR

deeldy Q];’G‘ @EQ, IR < 64 @%jﬂ@l RURQ VG QUER IR 69U
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Options:

1) Discovering
SRR

2) Symbolic coding
JOIRINR 6RFHT AR
3) Structuring
QRN

4) Scaffolding

QRC 18

Correct Answer: 4) Scaffolding
QR €15

Candidate Answer: 4) Scaffolding
QLRG 18

QID : 781 - Y@ 98500 98Q, WY JVE AFR6Q

Options:

1)
2)
3)
4)

2Ieadee Q6
Qedaqee 9leald
F0RRe QRERIE
QRAIRIY AYNA QR6RIS

Correct Answer: 4) QQIRIQ ATV QR6RIS

Candidate Answer: 2) Q629¢a% Q8614

Odisha Teacher Eligibility Test

Q QUQLING GRIRY FAUIP /GE |

QID : 782 - , , 8 Q9919 QIS AU6Q AIe FUTR ATE Q6% |

Options:

1) AFQG!, AT, IGY AN

2) 286!, Qr, IGY AR

3) 2AKel, 94 AL, AFAGI

4) AFAG!, AQY AN, G A1

Correct Answer: 1) QIAGI, Q&F, AU A1

Candidate Answer: 4) IQQGI, 9 AL, FQY AL

QID : 783 - @283 6 6RYRE QIAG FTIEIFIER AU AYR FAA AR 2GR 6223

QRIYeY g6als @988 |

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

16/71



10/8/2019

Odisha Teacher Eligibility Test
Options:

1) 6RYQl 9]0l

2) QIS QG

3) @991 @Y

4) QU198 AAR VG

Correct Answer: 4) QJKIJ9 @QQI @IS

Candidate Answer: 4) QJKIJE @RI @Y

QID : 784 - g1Q 232! 6AGITQ Gl QA S99 28 6298 |

Correct Answer: 4) 93QaQ

Candidate Answer: 4) 93QaQ

QID : 785 - “9I@ gRIGY 6 499 QAILER FRAULIRLYS 9R6 FaT (QlE F¢ AGH) AUEQ IR FRFI” AR 6%
SHERIEAIG QLS 6219 |

Correct Answer: 1) Q@ql

Candidate Answer: 4) Q48Q2I6QIQ

QID : 786 - 1@ 6238 1@ Q6294 2N 259 AR VITIQ RLIQ, ARIALIFS §R FE 6ART
056a AANAG G0 FR2N |

Options:
1) 6Q1Q%
2) IR

)

)

3) NP6
4) 6QIQ
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Correct Answer: 2) o@d@

Candidate Answer: 1) 6Q1QQ

QID : 787 - G9RYS FIQ 6995 AR AGIER 6TITETINCA RN RS 2662

Options:

1
2
3
4

6QTETING 6886Q FAldl 29-30@ YRR 2RFI6Q A°Fe FALIRAIER |
6QIG6TING YA ARIFAER RUIFE QIS QR TIAYEAR JIIRQ 2GS 626 |
6QITETIRG ANTR QR TG JRILIT 96 AR ILEe IRl @Rl |

QUCAIB AN

—_— — ~— ~—

Correct Answer: 4) QJ6QI® AL

Candidate Answer: 4) QJ6QI8 AAQ

QID : 788 - JImaQ G99 dRIQ IRLIQ FARIQ REX @8l 26E?

Options:
1

2

) Sigie eaie 98 *aal

)
3)

)

S
daighis aeaIeIe 9F @dal
Jaidlis 6908l 9F @dal
Q

4) Q6B ANQ

Correct Answer: 3) Jgigie 6904l 98 @84l

Candidate Answer: 4) QJ6QI8 AL

QID : 789 - AOAYS FRIQ 6966 JRIFA IRIR RIER F69TG 621R2N?

Correct Answer: 4) Q@@ (JQ1SI) ¥&° (6AITETIRG)

Candidate Answer: 4) Q@@ (JQ191) 9G° (6ATETIRAG)

QID : 790 - FYRYS FRIQ 699G AAIVIER ARER 62IR2N?
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Options:
1) AgQ1
2) 6QITETIIRG
3) 2366Q 60RG°YF
4) QoR!

Correct Answer: 1) <18Q1

Candidate Answer: 2) 6QIS6TIRAG

QID : 791 - 629 9RI0Q QIS4 Q1 AQ ORI YR KRA?

)
2) 62184
3) g4l
4) 2g6Ql)

Correct Answer: 2) 6194l

Candidate Answer: 2) 6194l

QID : 792 - ‘969" 69IR16Q FARG S0Q IRIQ 92F |
Options:

1)

2) 69609M

3) QAR

4) QU6 FRIQ 699G G6%

A&

Correct Answer: 2) 69699m

Candidate Answer: 3) SJQIQ

QID : 793 - 396Q QAUARYR! GRIQ TLG | “FIRRI IR AIAAFER 6NF6R, IL° AIF AL AR A1)
sqlgem |

Options:
1) AQR QIR
2) 6415 QY
)
)

3) 5% QIQY
4) 615@-00 QY

Correct Answer: 2) 655@ QIey
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Candidate Answer: 3) @5@ QI9Y

QID : 794 - FORYG ANER IRIS FAILIRES AUVIE AR IRIQ RSl 26E? “QRIS 2048 ALEF Ia° ARIP
8.00 6@ g9Ie @l 1“

Options:
1) 239
2) FAQ
3) QVGRIQ
4) QRETNEIE

Correct Answer: 2) S9QIe

Candidate Answer: 3) @IIQQIQ

QID : 795 - QRIIFIA QNG AL 960G QIR P4 21667

Correct Answer: 2) @39Q

Candidate Answer: 2) @39Q

QID : 796 - @9 62282 2648l G2 92l AR 6AHR?

Options:

1)
2) QPRI 6712Q
3) sqidRIel 1918
4) 2GR 69199 62RIAG

QJIIL QN

Correct Answer: 1) QRIRIE QI

Candidate Answer: 2) Q&flRIQ 6719Q

QID : 797 - gaIql 362 g9 918Q QIF @23 |

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




10/8/2019

Odisha Teacher Eligibility Test

Correct Answer: 3) 609G

Candidate Answer: 3) 609G

QID : 798 - ‘UGQRQ AFLAAY QUAMIAQ VALY 6 26T |
Options:

1) 680 ¢ QU6 2RIGE

2) 6918 26l QAR 2RIRS

3) &g 261 QU6Q ARIIGS

4) @9 A6 AA6R ARG

Correct Answer: 2) 6Q1® 6 QQ6Q 2IMIRS

Candidate Answer: 1) 659 ¢ Q469 ZRIAS

QID : 799 - gUAIR Qs @9 | g 6a9 AT IRICREN ol 4169y gjem |
Options:

1)

2) F@Q 6919% 69RIAG
3) 460K 71218

4) 6Q13R12 1918

QIRFIIQ 6C19R

Correct Answer: 3) g6QQ 71213

Candidate Answer: 2) O@Q 67190 63R10G

QID : 800 - I@Q 671127 6ARIAGE FIQ QTG QAN ‘ARAI'Q VALY R4 2UCT'?
Options:

1) QG AR W01 &I
2) AR F1RFQ ALYG

3) edlQidi@

4) 9ot egen

Correct Answer: 1) QURRIQ AFIea IG2TR g8
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Candidate Answer: 2) AFIG@ R19FQ QLIS

QID : 801 - G6R GAUARYQI AF6! IF 99960 *AQ Gag diw FRd6Q ¢ 628 AZ0IQ 2IRRG!

¢ a2 92 gag g9

2R 691166 § 60178 AIF |

¢ a1ege 6 qIeng 694

4IS RAR6Q,

QAIA6Q 99 92ALIL,

Q2 99 Q09IQ 6QHE |

IR 6I606RER 2IEMR 6QTa

2102 A5 A20Q,

¢ 628 GGaq Faa AAR QITIR 6AIR 6291 AFS,
IR QU6 AR FRAR!

QG 6J606Q6R G4 6269 @8 RQER?
Options:

1) 62 IRGEYQ 896

2) 69 gM 60176

3) 6 99R AL JUINES
4) 63 HAUEQR 65 QTR

Correct Answer: 1) 63 JRGEQ §R6R

Candidate Answer: 1) 62 gRJeYQ 8969

QID : 802 - 567 GRS A6 97 999ER0 Qe Gag Idiw ARG ¢ 628 AG0IQ 2R

¢ 92 92 gag 899

2R 69166 @ 6017 QIE |

J a1 6 Qleng 69Yad

48 RAR6R,

QAR AR 9GARIR,

Q9 8Q A09IQ 6943 |

2R 6ICFERER AR 6QHITR

210 KQ ALY,

¢] 692 a9g Faq @68 AR 691Q 6271 TS,
IR GIT6Q AR *Q&!

[ Q8 6QY6R?
Options:

1) 49a6Q QI 209
2) QA

3) 2IREER AR
4) QU6 AN

Correct Answer: 4) QJ6QI8 AXQ
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Candidate Answer: 4) QJ6QI8 AL

QID : 803 - 66 GRS 270! IF 999ER RAQ Gag diw FRG6Q ¢ 628 AGOIQ 2IRG!

¢ g2 92 gag g9

2R 69166 § 60178 AIF |

¢ a16ge G qIeng 694

4IS RAR6Q,

QAIA6Q 99 92AQIQ,

Q2 99 Q09IQ 6QHE |

IR 6I606RER 2IEMR 6QTa

2102 A5 A20Q,

¢ 628 §Gaq Faa AAR AITIR 6AIR 6291 AFS,
IR Q16 AR FRAR!

669 C°R6Q @R 699 2IERIAY JATIAG FQRE?
Options:

1) Qd4@Q8

2) AR GIRITQ ACMSP
3) ARYI6Q AZAQ ZUIERIR
4) QG2IQ REYAQ 26N

Correct Answer: 3) 4dI6Q AL 2RISR

Candidate Answer: 1) gd4@ad

QID : 804 - G67 GRS AFG! 97 9990 Qe Gag diw ARG ¢ 628 AG0IQ 2R

¢ 92 92 gag 899

2R 69166 @ 6017 QIE |

¢ a1Gge 6 Qleng 69Yad

98 RARER,

QAR AR 9GARIR,

Q9 8@ A09IQ 69%a |

2R 6ICTERER AR 6QHITR

210 KAQ ALY,

¢ 692 A9g Faq @68 AR 691Q 6271 AT,
IR GIT6Q AR *Q&!

QG0 A0RAIRE '8 @gR?
Options:

1) 699 GRS AAET GITGS F6Q 620IQ QM IR DRI IL° 6L §IE Ie° FABG! LIF F6Q 620Ig
gel am

2) Q2Ie1a 6J10d4a 29 6aalg

3) G99 6AIFER FEIG OF VAQ 6T 62 &F FEIg FAGI IS° FIFQ A2 ATAIGERN AIF *QRI] 629 |
4) QACAIB AUIQ AN
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Correct Answer: 4) QJEQIS A1UQ AAG

Candidate Answer: 4) QJEQI8 A1UQ AAQ

QID : 805 - G6R GRS ARG IF 999ERR RAQ Gag diE FRG6Q ¢ 628 AFOIQ 2IRRG!

¢ g2 92 gag g9

2R 69163 & 60IRT Q1T |

¢ a16ge G QIeng 694

A8 GUR6R,

QAR AR 99RIR,

Q2 99 Q09IQ 6QHE |

2IR 6UCDERER USAIR 6QHHITR!

2102 Q89 A2QQ,

¢ 692 GA9g Faa A6 AITIR 691Q 6851 TS,
IR GIY6Q AR *Q&!

AT 6RECERER AILIQ BIFER?

Options:

1) @G 6960667 &% 28R 08F @AUIRBS |
2) 6060696 RIS 2ARIQA 6RARDS |

3) 60606Q6R AR @FF JQT 0IQ G186 6aQ |
4) QUEQIB F1IQ AAS |

Correct Answer: 4) QU8 A1UQ AAQ |

Candidate Answer: 1) @8 69606960 @@ 28R 520 FRQRER |

QID : 806 - G6% QRILIRYQI APER? IT JFFEAR QAQ TP AIGETE QI QR 6208 1@ Q8@ AL AT
JR¢), g8 FIRER QRN | 6A7FRR G FaN | FII AGER, g8 AQY 67198 AF2UN LITIF 62AERR KGR
QI2IRAN | FIRTQ ACHR QTR 62RAN | & 6816’ G 6AINRIQ IR | AP 22 &Fl KIL AR G|
62192 | @8 99 A 2T 62IR2UN | GF 9Ig &)l 99 IR 62IR2AN | AL @@”6@ Q1% 621Q Qe |
RIRCY IM 9L 62IRAIN, IQ° 6AGRR FIQ @F QAT JTEUN | 6A4ERA IM AT TN QIQE 626
692 @16 @Yl 6816 AYF TR AQUGAT 62IR2AN 6LLTNER QITER QIR AR 2T | K16 G 6816 AFLIER
60ITN RIRTQQ AR FIRCAY AR 6QIT 6RRAUT | UYRIE FIRTY QAQ 8 JE! 2RISR AZN |
ARGER TSI, AIGIGIAR, G FIAFIER AZeUN | QIFTAEQ 9Fe 9@ IS QAN QIR 9% Ig QIFIPES ARG
Q06 62RAN | B8 MIAYA QIS6A A6 JQ 6RIT° ARaIN, AIZI TREQ IS QISR FF AN 6QIZaIN |
ARG FRFY6R A 69R AR2UN YV AiS T 6TRAIGY TRER 6AFFR 61606967 Qdl 629 g TS
Q6T @AAAR |

AR QIFGE 6RRA0I6Q 6Q¢RIG AFeIN?

Options:

1
2
3
4

ALIN2Q
@38l 2R
QA IR
QUCAUP ANY

—_— — ~— ~—
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Correct Answer: 4) Q468 AXQ

Candidate Answer: 4) QJ6QI8 AL

QID : 807 - 96% GRIKIRRQI AQ6RE Q@ J49Ena Qa9 G2 QIF6d @l QIecq 6208 Y@ QB9 Qigl 26
9Q¢), g8 AIRER QRN | 6A7FRR A8 FaIN | GIgl AG6R, g8 A 671998 AF2N UITIF 629ERR KR
QITIRAN | FINTY AR QLR 62IRAN | §T 6216 G SAINRIA 6LIR2AN | ARIGLPR 3 &)l IR AR 6L
621R2N | @8 6@ 9Q 2EA 62IR2AN | A8 98 A 991 9R 6IRAN | AL RRER AIG 621R RN |
RIRCY IM 98 62IRAN, IQ° 6AGER FIQ @8 QAP FTAUN | 6A4ER IR TR FTAUN QIQE 626
622 @16 @l 6819 AYF TR AAUGVS! 62IR2AN 6AATNER AITER QIFIRY AR 2T | V16 G 6816 AGLIER
691G RIRCYQ AR FIRCA] AR 6QIT 6RRAIET | AYRI1H FIRTY QAR B @& 2ICAARIER AZ2UN |
ARGER TSI, AIBIGIAR, G FIAFIER QTN | FIFTAER 9Fe G° IS QAN QIR 9% Ig QIFIREe FARIg
Q66 6202 | B8 AIAYQ QILEA (126 AQ 6RIC° AEIN, AI2I TREQ IS QISR FR AN 6QIZIN |
ARJRIE ARCIAER Rl 699 Q@AM YF AIS TS 6TRAIGE TRER 6AFER 6U60626R Al 622 S AIG
Q6T @AAIAR |

QIR 98 IARER @8 QRIT?
Options:

1) g% Ql eql
2) @ QI 609
3) ax1
4) IR

Correct Answer: 1) g% Ql Q4

Candidate Answer: 1) g% Ql @4l

QID : 808 - G5 GRILIRYQI AGERT IT JHGERN QAQ GG AIGETE A QIR 6208 1@ AB@ QL AT
9, g8 AREQ QRN | 629EFRR A8 AN | G121 AA6R, §8 94 671008 QRN QITIF 699501 F8Q
QIZIRAN | RIRTY F6AR 2IGER 62IR2IN | T 6816 B CAINRIA 62RAN | ARIGER 32 &l |IT AR 6RGF|
621R2N | @8 6@ 9 AQEA 62IRAN | AF 98 A 991 AR 6RAN | ARG PRER AIG 621R RN |
RIFOY IM 9L 62NN, IQ° 6AGER I @F AT JTUN | 6A4ERA IR AUTER FTeIN QIQE 66
692 @19 @Yl 6819 AYF TR AAUGAT 62IR2AN 6LATNER AITER QIFIRY AR 2T | V16 G 6816 AGLIER
601G QIRTQR ARY RIRTA] VAUREAE 61T 62R2UIT | AYRIE RIFTY AR 8 QFE AICAARIER QZelN |
ARYER 2T, CIGIGIAR, G FINFIER QFeUN | QIRTAER 9FC G° UG KN QA 9F UG QTIPS QARG
2906 6QRAN | B8 MIAYA QIE6A F2¢ UQ 6RIC° ARaIN, AI2I TREQ IS QIEQ R AN 6QIZIN |
ARG FIRCLER A 69R QRN YF AiS FLE 6TRVAR FTRER 6AFFR 61606967 Qdl 629 g IS
Q6T @QAAIAQ |

@ QIRTYEQ g9l 6FIGER 028 U2l 99 JQRUIQE 6 2QEHITE6R ARG @R |
Options:

1) 691161 FFYD QITIR
2) Qg 699

3) 98 9RR6R 671QaE
4) QU6QID A

Correct Answer: 4) QU612 4912
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Candidate Answer: 2) Q¢ 66Q

QID : 809 - G6% GRILIRYRI APERE IQ J49Ena QaQ G2 QIF6TE @l QIR 6298 Y@ QBQ Igl 26
9Q¢l, g8 AIRER QRN | 6A7FRR 9B FaIN | GIgl AG6R, g8 AQF 671998 Q@2 UITIF 629ERR KR
QIRIRAN | FIRTY AR QLR 62IRAN | §T 6216 G CAINRIQ 6LIR2AN | UGPSR 3 &)l 1L AR 6R6T|
621R2N | @8 6@ 9A 2EA 62IR2IN | A8 98 A 991 9R 6IRAN | AN RRER AIG 621R RN |
QIR IR 9B 62IR2AN, I 64GGR FRIQ @8 AUPER FTUN | 6AFLRR IR AUFER FTUN QS 6AgBR
698 Q16 @Y 6819 AYT FIN TAUGAC 62NN 6AATER AUF6Q ARG FILIA &IF | F16 B 6818 AFANER
691G\ QIRTAQ ARY FIRFAR IAUREAE 61T 69R2UIZ | AYRI1E FIRTY AR 8 ATl AR QEIN |
ARYER ATR, AIGIGIAQ, G FINFIER QLN | AIRTIER 2gE 9@ UG RN QA8 9@ UG AP ARG
2GAG 692N | AT FRQR FIL6R 71241 AQ 6RIS° A2, AL TRER A VISR IR AN 69122l |
ARYAE ARSY6R REl 669 Q2N YV AL 3O 62NV TRER 6AFRR 6U6F6Q6R QF| 629 LV IS
AUQ6HIVE RQAAIAL |

F69IB FRIQ 620G AYETEQR 2IQE 96272
Options:

1) 061 JQ el

2) 29195 A°aea!

3) Q8 2I0Q AR
4) 6061 9Q° 6TIRIRIR

Correct Answer: 4) 6@6fl 99° 6QIRIRIQ

Candidate Answer: 3) Q& 2I9GQ Q°QQQ!

QID : 810 - G6% GRILIRYQI AGERR IT JHFERN QAQ GG QST A QIR 6208 @ QB@ QILl 2T
9R¢, g8 AR QRN | 629FRR A8 QAN | G121 AAEE, §8 A4 671008 QRN QITIF 699501 A9Q
QIZIREIN | QIRTY F6AR 2IGER 62IR2IN | G 6816 B 6AINRIA 62RAN | ARIGER 32 &l |IT AR 6OGT|
621R2NM | @8 6@ 9 QPR 62IRAN | A8 98 A 991 AR 6IRAN | AR PRER AIG 621R RN |
RIFCY IM Q@ 62IRAIN, IQ° 6AGRR FIQ @F AT TN | 6A4ERA IM TR FTaUN QIQE 696
692 @16 @Yl 6819 AYF TR AAUGAT! 62IR2AN 6LATNER QITER QIR AR 21T | K16 G 6816 AGLIER
601G QIRTQQ ARY RIRTA] VAUREAE 61T 6R2UIT | AYRIE RN AR 8 @FE AICAARIER QZelN |
ARGER 2T, CIGIGIAR, G FINTIER QFeUN | AIRTAER 9FC G° UG KN QA 9¢ IQ QIFIPE QARG
Q06 6QRAN | B8 MIAYA QIEEA A6 UQ 6RIC° AEIN, AI2I TREQ IS QIEQ R AN 6QIZIN |
ARG FRFLER A 69R QRN YB AiS FLE 62RVNGL FTRER 6AFFR 61606967 Qdl 629 g TS
Q6T KQAAIAQ |

INYGR QUF6Q RIFR FGR?

Options:

1) SIGAI6R FRAIGFA ARG A°AF6Q ALY KRF |
2) gneR @F |
)
)

3) AgETE I AGEQ 6T |
4) Q9 (R1SF1I62 IRAINEQ JAIG AFIFIER AILIYY KAE 1) Ie° (AYETE I AGER F66' 1)

Correct Answer: 2) gagee @@ |
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Candidate Answer: 4) Q98 (R169168 JAFIREA JAIS A°CFER ALY KA 1) IQ° (AYETE IR
QiGea gee 1)

QID : 811 - The sentence below has been divided into three parts. Select the part of the sentence
that has an error. If the sentence has no error, select the option 'No Error'.

The waiter/ waited at/ my tables.
Options:

1) The waiter

)

2) waited at
3) my tables.
4) No error

Correct Answer: 3) my tables.

Candidate Answer: 2) waited at

QID : 812 - Select the word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully.

(I had studied all night), | would have aced my tests.
Options:

1) Would | have studied all night.

2) have | studied all night

)
)
3) Had | studied all night
4) Did | study all night

Correct Answer: 3) Had | studied all night

Candidate Answer: 3) Had | studied all night

QID : 813 - Choose the right passive sentence for this active sentence:
| will be working on the project.
Options:
1) The project will worked by me.
2) The project was worked on by me.
)
)

3) The project is going to be worked upon by me.
4) On the project | will be working.

Correct Answer: 3) The project is going to be worked upon by me.
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Candidate Answer: 3) The project is going to be worked upon by me.

QID : 814 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

We did nothave _ slightest idea that he was a thief.
Options:

1)a
2) the
3)an
4) none of the others

Correct Answer: 2) the

Candidate Answer: 2) the

QID : 815 - Select the most appropriate word that fills in the blank correctly and completes the
sentence meaningfully.

The cat climbed the wall.

Options:

1) up/on

2) upon/over
)
)

3) up/over
4) over/into

Correct Answer: 1) up/on

Candidate Answer: 1) up/on

QID : 816 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Irrelevant

Options:

1) Arduous
2) Reluctant
3) Unrelated
4) Unidentified

Correct Answer: 3) Unrelated

Candidate Answer: 3) Unrelated

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




10/8/2019 Odisha Teacher Eligibility Test

QID : 817 - Select the word that is opposite in meaning (ANTONYM) to the word given below.

Release

Options:

1) Relinquish

2) Relieve
)
)

3) Captive
4) Rigorous

Correct Answer: 3) Captive

Candidate Answer: 3) Captive

QID : 818 - Select the word that is spelled correctly.
Options:

1) Auspicious

2) Auspitious
)
)

3) Auspisious
4) Auspictious

Correct Answer: 1) Auspicious

Candidate Answer: 1) Auspicious

QID : 819 - Select the most appropriate 'one word ' for the expressions given below.

Accorded a great deal of respect, especially because of age, wisdom, or character
Options:

1)

2) Supreme
3) Detest
4) Demean

Venerable

Correct Answer: 1) Venerable

Candidate Answer: 3) Detest

QID : 820 - Select the most appropriate meaning of the given idiom with a similar Idiom.

Piece of cake
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Options:
1) Extremely difficult
2) Something which is very simple

)
)
3) Intuition for something dangerous
4) Invitation for birthday

Correct Answer: 2) Something which is very simple

Candidate Answer: 4) Invitation for birthday

QID : 821 - When a teacher engages a class in role play, what are they usually assessing?
Options:

1) Assessment of reading

2) Assessment of writing

)
)
3) Assessment of listening and speaking
4) Assessment of personality

Correct Answer: 3) Assessment of listening and speaking

Candidate Answer: 4) Assessment of personality

QID : 822 - While assessing a child’s written work, which one of the following should not be
focused on?

Options:
1) Fluency
2) Content
)
)

3) Accuracy
4) Symbolism

Correct Answer: 4) Symbolism

Candidate Answer: 2) Content

QID : 823 - Which of the following exercises focuses mainly on testing the vocabulary?
Options:

1) Match the following
2) True or False

3) Transformation

4) Multiple Choices

Correct Answer: 1) Match the following
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Candidate Answer: 1) Match the following

QID : 824 - The exercise in which a child is given a text in which the every nth word is deleted,
and is asked to complete the text by filling in the deleted words is known as

Options:

1)

2) Translation

3) Rewriting

4) The Close Procedure

Dictation

Correct Answer: 4) The Close Procedure

Candidate Answer: 3) Rewriting

QID : 825 - The process of giving grades or marks for a child’s work is known as

Options:

1) Recording
2) Assessing
3) Reporting
4) Closing

Correct Answer: 3) Reporting

Candidate Answer: 4) Closing

QID : 826 - Among the following assessments, which one of these does not help in process of
Learning?

Options:

1
2
3
4

Scolding the child

Identifying the strengths of a child
Using anecdotal records

Providing timely inputs or interventions

—_— — ~— ~—

Correct Answer: 1) Scolding the child

Candidate Answer: 2) ldentifying the strengths of a child

QID : 827 - Which of the following is not essential for Language learning curriculum?
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Options:
1) Making the class contextual
2) Following age appropriate pedagogy

)
)
3) Allowing children to discuss or talk while performing activities
4) Not allowing the children to get creative with their thoughts

Correct Answer: 4) Not allowing the children to get creative with their thoughts

Candidate Answer: 4) Not allowing the children to get creative with their thoughts

QID : 828 - The Smart board is a type of

Options:

1) Visual — Activity aid

2) Hearing aid

3) Video — Audio visual aid
4) Speaking aid

Correct Answer: 3) Video — Audio visual aid

Candidate Answer: 1) Visual — Activity aid

QID : 829 - Which of the following is not a Learning — Teaching strategy in the case of learning
English as a second language?

Options:
1) Confidence session
2) Fair play
)
)

3) Self and peer correction
4) Trouble-shooting session

Correct Answer: 2) Fair play

Candidate Answer: 3) Self and peer correction

QID : 830 - Among the following, which one of these is a characteristic of Pair Work?
Options:

1) Preparing learners for group work

2) Bringing a wider variety of language experiences in a classroom

3) Helping students in playing imaginary characters in a given situation

4) Providing an opportunity to use language, as used in real life circumstances

Correct Answer: 1) Preparing learners for aroup work
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Candidate Answer: 1) Preparing learners for group work

QID : 831 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

The Khajuraho temples are dedicated to which 2 religions?
Options:
1) Hinduism and Jainism
2) Hinduism and Buddhism
)
)

3) Buddhism and Jainism
4) Jainism and Sikhism

Correct Answer: 1) Hinduism and Jainism

Candidate Answer: 1) Hinduism and Jainism
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QID : 832 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

Which of these is not a water body located near the Khajuraho Temples?
Options:
1) Sib Sagar
2) Ganga Nadi
)
)

3) Khajur Sagar
4) Khudar Nadi

Correct Answer: 2) Ganga Nadi

Candidate Answer: 2) Ganga Nadi
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QID : 833 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

How many of the Khajuraho temples are dedicated to Jain Tirthankaras?

Correct Answer: 4) three

Candidate Answer: 4) three
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QID : 834 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

Khajuraho Temples were built by which Dynasty?

Options:

1) Chandela

2) Chalukya
)
)

3) Maurya
4) Chola

Correct Answer: 1) Chandela

Candidate Answer: 1) Chandela
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QID : 835 - Read the passage carefully and answer the questions that follow choosing the
correct alternatives.

The Khajuraho Group of Monuments is a group of Hindu temples and Jain temples in Chhatarpur
district, Madhya Pradesh, India, about 175 kilometres southeast of Jhansi. They are a UNESCO
World Heritage Site. The temples are famous for their nagara-style architectural symbolism and
their erotic sculptures.

Most Khajuraho temples were built between 950 and 1050 by the Chandela dynasty. Historical
records note that the Khajuraho temple site had 85 temples by the 12th century, spread over 20
square kilometres. Of these, only about 25 temples have survived, spread over six square
kilometers.Of the surviving temples, the Kandariya Mahadeva Temple is decorated with a
profusion of sculptures with intricate details, symbolism and expressiveness of ancient Indian art.
The Khajuraho group of temples were built together but were dedicated to two religions, Hinduism
and Jainism, suggesting a tradition of acceptance and respect for diverse religious views among
Hindus and Jains in the region. The 10th-century Bhand Deva Temple in Rajasthan was built in
the style of the Khajuraho monuments and is often referred to as 'Little Khajuraho'.

The temple site is within Vindhya mountain range in central India. An ancient local legend held
that Hindu deity Shiva and other gods enjoyed visiting the dramatic hill formation in Kalinjar area.
The centre of this region is Khajuraho, set midst local hills and rivers. The temple complex reflects
the ancient Hindu tradition of building temples where gods love to pray.

The temples are clustered near water, another typical feature of Hindu temples. The current water
bodies include Sib Sagar, Khajur Sagar (also called Ninora Tal) and Khudar Nadi (river).Local
legends state that the temple complex had 64 water bodies, of which 56 have been physically
identified by archaeologists so far.

All temples, except one (Chaturbhuja) face sunrise - another symbolic feature that is predominant
in Hindu temples. The relative layout of temples integrate masculine and feminine deities and
symbols highlight the interdependence. The artwork symbolically highlight the four goals of life
considered necessary and proper in Hinduism - dharma, kama, artha and moksha.Of the
surviving temples, six are dedicated to Shiva and his consorts, eight to Vishnu and his affinities,
one to Ganesha, one to Sun god, three to Jain Tirthankars.For some ruins, there is insufficient
evidence to assign the temple to specific deities with confidence.

An overall examination of site suggests that the Hindu symbolic mandala design principle of
square and circles is present each temple plan and design. Further, the territory is laid out in three
triangles that converge to form a pentagon. Scholars suggest that this reflects the Hindu
symbolism for three realms or trilokinatha, and five cosmic substances or panchbhuteshvara.The
temple site highlights Shiva, the one who destroys and recycles life, thereby controlling the
cosmic dance of time, evolution and dissolution.

How many Khajuraho temples were there in the 12th Century?
Options:

1) 25
2) 60
3)85
4) 90

Correct Answer: 3) 85

Candidate Answer: 3) 85

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

37/71



10/8/2019

Odisha Teacher Eligibility Test

QID : 836 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the poet catch in the stream?
Options:

1) A silver trout

2) A red berry

)
)
3) A blue kingfish
4) Silver apples of the moon

Correct Answer: 1) A silver trout

Candidate Answer: 1) A silver trout
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QID : 837 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the girl have in her hair?
Options:
1

2) Silver Stars

) Hazel wood
)

3) Apple Blossom
)

4) Blue Berries
Correct Answer: 3) Apple Blossom

Candidate Answer: 3) Apple Blossom
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QID : 838 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

What did the poet use the berry for ?
Options:

1) to attract the girl

2) bait for fish

)
)
3) decoration on cake
4) grill in the fire

Correct Answer: 2) bait for fish

Candidate Answer: 4) grill in the fire
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QID : 839 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

Where was the poet wandering?
Options:
1

2) river banks

) lands and hills
)
3) mountain tops
)

4) forests
Correct Answer: 1) lands and hills

Candidate Answer: 1) lands and hills
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QID : 840 - Read the poem carefully and answer the questions that follow choosing the correct
alternatives.

The Song of Wandering Aengus
W. B. Yeats

| went out to the hazel wood,

Because a fire was in my head,

And cut and peeled a hazel wand,

And hooked a berry to a thread;

And when white moths were on the wing,
And moth-like stars were flickering out,

| dropped the berry in a stream

And caught a little silver trout.

When | had laid it on the floor

| went to blow the fire a-flame,

But something rustled on the floor,
And someone called me by my name:
It had become a glimmering girl

With apple blossom in her hair

Who called me by my name and ran
And faded through the brightening air.

Though | am old with wandering
Through hollow lands and hilly lands,
| will find out where she has gone,
And kiss her lips and take her hands;
And walk among long dappled grass,
And pluck till time and times are done,
The silver apples of the moon,

The golden apples of the sun.

vinitWhy did the poet go to the hazel wood?
Options:

1)

2) because there was a fire in his head
3) to meet friends

4) because his head was too heavy

to take a walk

Correct Answer: 2) because there was a fire in his head

Candidate Answer: 2) because there was a fire in his head

QID : 841 - What should a teacher do to promote cooperative learning in social science
classroom?

ARIFS TR 6580A6a AARIQ FYIQ JOIRQ il 661 FIRQ @Sl KA AFe?
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Options:

1) Engage students in debate and discussions
219Q §07 I9° ACRRA FGC 20

2) Provide various source for project

Ja68a QI9 GeR A2 AARAUL R0

3) Give individual task

q0eg Q7 G2

4) Divide the class in small groups

FLY 6216 6816 PEQ WG FQG

Correct Answer: 1) Engage students in debate and discussions
219Q §0@ I° ACRRA FGC 20

Candidate Answer: 1) Engage students in debate and discussions
219Q F0Q I9° ACRAA FGC 20

QID : 842 - What is most appropriate use of end-of the text question in social science book
chapters?

QR4 ARG TRIQ AYAFERER IO YR 6886Q AQ0IQ RIAYD LI 2U6S?
Options:

1) To identify the important questions

999946 99969 580 *aal AR

2) To assist teachers to summarise the chapters

2YOIFR VY 2R60 FARa ATIAG KGR AIN

3) To enable students to understand and express in their own words
da1e1Q G10 Geg Kall QIIRRI 1e° gl @68l QIR AVF 629

4) No option is correct

6a19d Qe 20w g6€

Correct Answer: 3) To enable students to understand and express in their own words
JR121Q 0IR HFY [l IR 9e° Rl @Al AIR. AV 624

Candidate Answer: 4) No option is correct
6@16d Sag 0@ g6L

QID : 843 - Which of the following objective is most appropriate regarding assessment in social

science?

FANYE FVAGERR F1U6Q 69LE ANITR FRIAQ RIAG AHFS AQ0IR RAYS?
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Options:

1) To motivate students by giving marks
999 699 AT AgE SAS AR

2) To check student’'s memory level
Jaighie 96 2Q a8l *aal AR

3) For comparison between students
Jalele ea 9R9 KA IR

4) To encourage students

da1eig 22120 *ael AR

Correct Answer: 4) To encourage students
JRIelg 22186 *8Ql AR

Candidate Answer: 4) To encourage students
Jaldig @@ *aal AIR

QID : 844 - In social science classroom, a teacher wants to assign a project on “Partition of India”
based on primary sources. Which of the following is not a primary source?

AR VAR 6952960, 764 99 gl2fia A2Q AE6Q "VRCR AFTIR" FTLER @ gag Add Adlq
QIQIR| FYAYS 699G gllfia Aa 9697

Options:

1) Newspaper archive
QUL QISR

2) Novels

QAL

3) Autobiography
A1

4) Oral history

60ge Aoal

Correct Answer: 2) Novels
QAL

Candidate Answer: 2) Novels
QAMIK

QID : 845 - Which of the following is the most appropriate approach to develop an understanding
of “Democratic Institution”?

"IEGIaR gERIR" ARldg 9UIRSI AR FFA 6296 A90IQ AAYS ARI?
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Options:

1) To provide national level examples

PP A AQILAG YRR KRG

2) Introduce harsh realities to students

JR1gI1Q AR RE0IQ FIFFTIQ VALY KAQ!

3) Provide examples of realities with ideal situation
218 O6EC Q20 QIYITIA RQIFAE AR KaQl

4) Describe ideal situations

ZIed 9QFG Qdal @GQl

Correct Answer: 3) Provide examples of realities with ideal situation

2Ied 0REG ATC QILATIQ ARILAE YRIR KGRl

Candidate Answer: 3) Provide examples of realities with ideal situation
2108 OGEC Q20 QIYITIA AQIFAE AR KAQl

QID : 846 - If a teacher provide some clues to students and ask them to assess their projects on
the basis of those clues, then which of the following assessment has been adopted by the
teacher?

A3 6a16d S9e JQICIA @8 G 9IIF FA3 I9° 699 §29FR0 AR6R GIa gREgEa AR08 @Al AR
Q28 , 606Q G 6a4 (RNRT TR FIA Y216 62RE?

Options:

1) Summative assessment
AJg qplae

2) Peer assessment

dea gl

3) Self assessment

9 9g0e

4) Formative assessment
FORRe RILe

Correct Answer: 3) Self assessment

Q9598

Candidate Answer: 2) Peer assessment
daa qglae

QID : 847 - In order to overcome the problems related to social science teaching and learning
process, the curriculum of social science should be

AR FRIAQ AOYRIR 9e° FHAIQ 9Rel AHPe AAYIFFR FA6Q AIFIFR FRIFQ AIQEAT 694l
A3
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Options:

1) comprehensive

Qlae

2) based upon gender concern

MGG AR QIR §@ F6Q

3) Both comprehensive and based upon gender concern
Q09 QIIR IQ° AGIFIE AQT RUQ & F6Q

4) No option is correct

6a19d Gag A0 g6<

Correct Answer: 3) Both comprehensive and based upon gender concern
Q09 QIR IQ° AGIFIC AT RUQ 9@ F6Q

Candidate Answer: 3) Both comprehensive and based upon gender concern
Q09 QIIR IQ° AGIFIE AYT RUQ A& F6Q

QID : 848 - Which of the following is an appropriate reason for assessing students through art in
social science subject?

AFIER GRIFQ FTA6R FFARI ARYAER FVIIQ FRILAQ 28@I AR GF6R 6796 QAYS FIRE?
Options:

1) It makes it enjoyable

gl YRR e @6

2) It provides an opportunity for personal interpretation of concepts.
421 JIRIGRY 9E98 QIYl KGRI IRl N9 46T 9RIF @6Ql

3) It improve student’s artistic ability

92l JR1E1Q KRINR @RS ARS A6

4) No option is correct

6a19d Qag A0@ g6€

Correct Answer: 2) It provides an opportunity for personal interpretation of concepts.
N2 IRNIYEY RB90 QY FASI AIR 9@ 6T FRIF K64l

Candidate Answer: 3) It improve student’s artistic ability
gl 89121Q ARIND @VG! ARG F6Q

QID : 849 - Which of the following is not a challenge during social science teaching and learning
process?

AAIFR FRIAQ AIOYRIR I&° FHAIQ JFC ATAER FIRYG 629 & GRS 6272
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Options:

1) Uncertainty of objective
QWL

2) Unavailablity of trained teachers
9930 JARQ ARG

3) Sufficient tools of evaluation
RIeeq adig AQEi<

4) Lack of instructional material
YIRS AQRIFQ 2RI

Correct Answer: 3) Sufficient tools of evaluation
RIeeq adig Qe

Candidate Answer: 3) Sufficient tools of evaluation
RIeeq adig Qi<

QID : 850 - Which of the following is correct about social science?
AR FRIQ AHFEQ A 6296 A0R?
Options:

1) Social science is not concerned with diverse concern of society
AR SRR ACIRER FER A6QG A6 AR} g6L

2) It doesn’t emphasise on homogeneity

42l ARIGICIR AR @ I |IF

3) It lays foundation of analytical and creative mindset

2l G64.8419Q 19 IeadIn AIRIecIa 8@ ass

4) It is a subjective discipline

2l @ ST 5l

Correct Answer: 3) It lays foundation of analytical and creative mindset
2l G64.8419Q 19 IeadIR AIRdecIa @& ass

Candidate Answer: 3) It lays foundation of analytical and creative mindset
2l 56484198 19 Ieadn AIRdecIa @& ass

QID : 851 - Ziauddin Barani was a chronicler of which of the following century?

FARRRAAF FIFYC 699 F0IN1Q AFAARIA Y6R?
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Options:

1) 12" century
12 do@
2) 13" century
13 do@
3) 141" century
14 0@
4) 16" century
16 0@

Correct Answer: 3) 14" century
14 do@

Candidate Answer: 4) 16" century
16 0@

QID : 852 - Which present day Indian State was known as Gauda in the past?

609 QOTIR AUAGIH AIF P16 6915 FIFI6a UGS 2eR?
Options:

1) Maharashtra
ALY

2) Gujarat

JeUs

3) Madhya Pradesh
RIGE4E

4) West Bengal
A8eQer

Correct Answer: 4) West Bengal
ARG

Candidate Answer: 4) West Bengal
Af Qe

QID : 853 - Which of the following were called ‘samantas’ during seventh century?

Q99 9GIR1Q FIRHEYLRR FIEA QLG "ANS" QLI AIQYMI?
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Options:

1) Petlytradors

6U0R QI

2) Bonded labour
989a gae

3) Big landlords

Q9 TR

4) Artisans or craftsmen
QAR QI Fig1

Correct Answer: 3) Big landlords
Q9 QR

Candidate Answer: 3) Big landlords
Q9 TR

QID : 854 - The struggle of which of the following is called as “tripartite struggle” by the
historians?

390 699 A°gIAg ABLATRAET "GAYIA A°GIF" QLR ARES AQ KA ?
Options:

1) Chauhans, Gahadavalas and Chalukyas

601212, JLARIAM Q° FIEmIRY

2) Gurjara Pratihara, Chalukyas and Pala rulers
JeIRl go2IR, SIEMAY N9° IR §IAKGE

3) Rashtrakuta, Chauhans and Chalukyas

QIYQEI, 6912199 98° Qg

4) Gurjara-Pratihara, Rashtrakuta and Pala dynasty
GlGI‘IQI-g@QIQ, QUEQE! NL° diM QUGS

Correct Answer: 4) Gurjara-Pratihara, Rashtrakuta and Pala dynasty
JRIA-goeIa, AIEge! Me° din QIFS°4

Candidate Answer: 2) Gurjara Pratihara, Chalukyas and Pala rulers
geIal goela, Slemiay e° dim JIARE

QID : 855 - Which ruler Constructed a new garrison town named siri for his solders?

679 9Ide GIFa 637w IR §oF FEQe A2q da1 GAlE aQeen?
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Options:

1) Ibrahim Lodi

QAT 6RG

2) Muhammad Tughlug
(2190 QAR

3) Alauddin Khalji
ARQER GG

4) Ashoka

2edl@

Correct Answer: 3) Alauddin Khalji
ARG SRG

Candidate Answer: 4) Ashoka
2edll@

QID : 856 - Kingdom of Garha Katanga was associated with which of the following tribes?

QAIFIFY AIQLI FITEH QARG TS 609 AARITQ ATG 9§67
Options:

1) The Ahoms
261

2) The Gonds
69l

3) The Garos

SeQUQ

4) The Kochs

6@lQ

Correct Answer: 2) The Gonds
69l

Candidate Answer: 3) The Garos
e

QID : 857 - Which national leader called “untouchables” as Harijan?

676 FIV1A 6201 2FA FIT6R "AYY" 6AIM QRIAN ?
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1) Dr. B.R. Ambedkar
218 Q.29 ZICFIRR

2) Sardar Patel
dAQIQ IS

3) Jawaharlal Nehru
FAULANIM CRLQ

4) Mahatma Gandhi
€121¢)] QIR

Correct Answer: 4) Mahatma Gandhi
1219 Sl

Candidate Answer: 2) Sardar Patel
QI I6Tm

QID : 858 - During which national movement, nai-dhobi bandhs were organised by the
Panchayats to deprive landlords of the services of barbers and washermen?

62% FIV1A ACRIRAQ ATNER, ULINGER FTVACER TR 9&° 6IQI FIgF 6291 0IQ FES KA AIR AIR-
SIS 9 Q TICAUFY KALEM?

Options:

1) Swadeshi Movement

6Qd1 2IeRINe

2) Non-Cooperation Movement
2QLedIol ZIeLINe

3) Paika Rebellion

e F6QIQ

4) Quit India Movement

QAL LN KPR

Correct Answer: 2) Non-Cooperation Movement
2QLedIdl 2L IRe

Candidate Answer: 3) Paika Rebellion
AR 618

QID : 859 - Who is responsible for introducing Mahalwari settlement in India?

QRS ARG F6RINY JRGRA IR QA G ?
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1) Thomas Munro
caleld (aeQl

2) Holt Mackenzie
2R I6aaG

3) William Bentick
QEEA 625

4) Lord Cornwallis
P90 ARBAIRA

Correct Answer: 2) Holt Mackenzie
2R QI6eaG

Candidate Answer: 4) Lord Cornwallis
PG FABARY

QID : 860 - Ain-i-Akbari book was written by .

AR-2-ZIRQ QGG emgieleml

Options:

1) Akbar
INIQ

2) Abu’l-Fazl
A N-TR
3) Birbal
QAIM

4) Jahangir
RGN

Correct Answer: 2) Abu’l-Fazl
AY'R-TFIR

Candidate Answer: 2) Abu’l-Fazl
Q' N-TaM

QID : 861 - ‘Stri PurushTulana’ is a book authored by

RIEA K @ 9101 05 9@ QT
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Options:

1) Pandita Ramabai
Q&G QAANQIR

2) Tarabai Shinde
FRICIR Jdee

3) Savitri Phule
AUFST g6

4) Sarojini Naidu
A6QIFR1 FIRG

Correct Answer: 2) Tarabai Shinde
Glaeix d6e

Candidate Answer: 3) Savitri Phule
AUFST g6

QID : 862 - Raja Ravi Vermawasa
QR QR QN @68 2g6ml
Options:

1) painter

oeag1

2) writer

emsi@

3) weaver

QEIRIR

4) sculptor

feaia

Correct Answer: 1) painter
oQag1

Candidate Answer: 1) painter
oedg1

QID : 863 - In which year did Ahmedabad mill strike take place?

2120QIR1Q fiR 696 9UQ 2A0IR FRER?

Correct Answer: 3) 1918
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Candidate Answer: 2) 1920

QID : 864 - Which of the following is called the ‘house of the people’ in Parliament?
G76Q 6296 A°ATQ ‘FRIQ AN’ Qe 997?
Options:

1) Rajya Sabha
QUL

2) Lok Sabha

emialwel

3) Cabinet

azael

4) No option is correct
6719 Sag A0 g6<

Correct Answer: 2) Lok Sabha
emladwl

Candidate Answer: 2) Lok Sabha
emladwl

QID : 865 - Which of the following does not come under the Union List?

3R 62R6 QT2 SRl 219S 26 FI@?
Options:

1) Railways
N

2) Air Force
QAR QIER1
3) Telephone
6omETI

4) Fisheries
ey

Correct Answer: 4) Fisheries
aQy

Candidate Answer: 4) Fisheries
QY

QID : 866 - Which of the following is not a Directive Principle of State Policy?

A9Q 6996 QG FIGAIRIQ Feadial ¢16 g6<?
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1) Separation of Judiciary from executive

a1 019 A9I FRIF YQANIRRE KRG

2) Organisation of village panchayat

QP ABIAGEQ A°FOR *Q

3) Uniform civil code for the citizens

QIE0Re IR 26 6 691@

4) Protecting the sovereignty and unity of our country
2IF 6299 AFELING 1e° 1GIg A8 FS)

Correct Answer: 4) Protecting the sovereignty and unity of our country
26l 629Q AL ¥L° IRGIg ATl *Aa!

Candidate Answer: 3) Uniform civil code for the citizens
QAR AR 26 A6 6QIe

QID : 867 - Article 18 of the Indian constitution deals with

QAR AAMFR 2Q6Rw18 Q AIFEQ ARG
Options:

1) abolition of untouchability
a6l SemId

2) equality before law

AR e Lol

3) abolition of titles

SIoQ @94

4) protection from arbitrary arrest
AIRLIE JeQId OIQ adl

Correct Answer: 3) abolition of titles
SIoa 899

Candidate Answer: 1) abolition of untouchability
g6l SemId

QID : 868 - Who is considered as the ‘Law officer of India’?

‘QUACA AR KNG @ F6ROR! FQE?
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1) Comptroller and Auditor General
FAUNR 9Q° 12 FAIRQIR

2) Attorney General

2Ie% 68916a%

3) Union Law Minister

6@Y14 2RI

4) Judge of Supreme Court

qge 6R16Q FoIae

Correct Answer: 2) Attorney General
250 687160%

Candidate Answer: 4) Judge of Supreme Court
ge 6QI6a Golae

QID : 869 - Naveen Patnaik who became the chief minister of Odisha after the election of 2019
belong to which political party?

2019 oga GQIeR 96Q 6341 YR 1R JFRIAR 676 ARECTR ARQ ALES?
Options:

1) Bhartiya Janata Party
QIe01a 896! AIF

2) Biju Janata Dal

Qg @90l @@

3) Indian National Congress
QALY PP @°69<

4) No option is correct
6a19d Qag 20w gL

Correct Answer: 2) Biju Janata Dal
Qg a0l of

Candidate Answer: 2) Biju Janata Dal
Qg 996l of

QID : 870 - In the elections to LokSabha, how many seats are allotted to Odisha?

6RIRARI FIERER GBI 6R60IT AR AR FIeE 29?
Options:

1) 24
2)22
3) 21
4)19

Correct Answer: 3241

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

56/71



10/8/2019

Odisha Teacher Eligibility Test

Candidate Answer: 3) 21

QID : 871 - Aspects of Geography should be taught keeping in mind the need to inculcate in the
child

QETIRR FU6AYE ABIFQ AUICAUBHS FARIQ FEAUFHIAGIA K2 L6 OF T6IAS! QS |
Options:

1) a critical appreciation for conservation of environment
AG69E LATIQ AR IRG AFNERIFR!

2) inevitable aspect of social reality

ARIFS QILRTIQ UG FT6Q

3) about natural disaster in the country

62649 9I9oa 96410 AFRER

4) No option is correct

6@16d dag A0@ g6L

Correct Answer: 1) a critical appreciation for conservation of environment
G694 VIR AR IRE ACIERIFR

Candidate Answer: 4) No option is correct
6a19d Qe Q0@ g%

QID : 872 - In Geography, learning should involve visits to

Q6QIREQ, FYIQ ARER Q 0GR 960 629l AT
Options:

1) Museums

AILIRG

2) Monuments

=aal!

3) Both Museums and Monuments
QA A°YLINS NQ° %@%Q

4) No option is correct

6a19Q Qe A0@ g6€

Correct Answer: 3) Both Museums and Monuments
Q9L VPR 99° 9oIR

Candidate Answer: 3) Both Museums and Monuments
QLI A°YLND: NQ° %@%Q

QID : 873 - In Geography, students may be asked to explore the

Q69IR6a FaNEa UQANIQ @ARIQ 92 AR A6
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Options:

1) local surrounding

allyfoYstanata

2) local skills and materials

1 QYO NQ° QUPXAE

3) observe the activities of communities
AIQAR FARRIT ATEIVE FGQ!

4) All options are correct

A8 a9 A0

Correct Answer: 4) All options are correct
A0 Sag A0Q

Candidate Answer: 4) All options are correct
A08 Gag A0

QID : 874 - Which of the following activities can be taken up by students while learning
geography?

I. Student may be taken to visit nearby museum

Il. Students can be encouraged to watch the night sky

lll. Students can be taken to visit historical monument

Q6TIR FHLIQ ANUEQ FYNYS FAURRIAYER FAIANER F2d @R ARG ?
. SQIelg AYAIY CILARAG 6T

II. FRiIginieg QIE RIS 69YRN6R QLG FAULRAAIER |

lIl. SiiEhineg APeIde §o3a0 6agel A FRIKIR A6l

Options:

1) Only land I
6QQe | Q° I

2) 1, 1land I

I, 11~qe° 1l

3) Only Il and 1lI
6@Q@ 11 qe° 11l
4) Only I and 1l
6@ 1 ae° Il

Correct Answer: 2) |, Il andlll
[, 11g@°

Candidate Answer: 3) Only Il and lll
6@Q@ 11 9e° 11l
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QID : 875 - What kind of activities can be done outside the classroom while teaching geography?
I. Field Trips
Il. Surveys

Q69IR TEYURR! AFILL 6HTRVER AILN6R 626 URIR FARRIY KR IR AIER?
l. Q1Y QIQI
1. Q6

Options:

1) Only |

6w |

2)Only 1l

6@Raw Il

3)Both I and I

| 9Q° Il Q@0

4) No option is correct
6a16d dag A0@ g6L

Correct Answer: 3) Bothlandll
| 9Q° Il Q@

Candidate Answer: 1) Only |

6QRew |

QID : 876 - is an order of behaviour and the process of extending an idea into text.
_ 620 ZIFAda §F1 N @ IQ4ITER dIQ ARG @QQIa 9@

Options:

1) Discourse
Jeoe

2) Semantic

aRigie

3) Pragmatic
gaIAGQ

4) Syntactic

Qe

Correct Answer: 1) Discourse
a[aalay

Candidate Answer: 2) Semantic
aRIgR

QID : 877 - Teaching aid in social studies helps in illustrating natural phenomena like

ANTR YA 6926 VR AQIAG! Q ARl 9I9Pe 2ORIq 66 @AQl AL Q6Q
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Options:

1) volcano

2leIATa

2) rain

o8

3) earthquake

fea

4) All options are correct
Ara Sag A0

Correct Answer: 4) All options are correct
A0 a7 A0Q

Candidate Answer: 4) All options are correct
A08 Gag A0

QID : 878 - are helpful in reinforcing students learning when there is difficulty in creating
real atmosphere.

geo 9664 GaIReq agal 626n SRICIA YRR 69Q6R IBHIRINAER ATAR
Options:

1) Teaching Approaches
J96 ARG

2) Teaching Aids

QS ALY

3) Teaching Remedies
§o° oI

4) Diagnostic Teaching
QlaleaIde 56°

Correct Answer: 2) Teaching Aids
SR8 ARG

Candidate Answer: 3) Teaching Remedies
GG° 9oQIQ

QID : 879 - teaching refers to a group of teachers working together in order to optimize
resources, interest and expertise.

JRIQ 2e 2R, 2GR IS° eFTIA AGFAFAER IR IQI0 RIF AFIAG FIR I |
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Options:

1) Team

e

2) Individual
02

3) Supportive
LI

4) Guided
ARG

Correct Answer: 1) Team
Qe

Candidate Answer: 3) Supportive
dLIe

QID : 880 - is a sequence of activities that involve a group of students to study, do
research, use their experience, skills in performing the given task assigned by teacher in
Geography classroom.

PARRIAFFR 92T 99 QI LT F6aq FRIIQ ARIETIR, QTS @R, FIQ LRRS!, QETIFR
695a96Q J96aQ QI 99a AT AR AR QYS! FILAR AITER FFS!

Options:

1) Survey

68

2) Project

ges

3) Both Survey and Project
Q68 I9° gag Q0

4) No option is correct
6a19d Sag A0 g6<

Correct Answer: 2) Project
gogs

Candidate Answer: 1) Survey
68

QID : 881 - Which two elements combine to form quartz?

6RINITH TOREA 679 A& RAIRAIE I8GE §47?
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Options:

1) Silicon and iron
ANRR 9Q° IRQR

2) Silicon and aluminium
dRae e aAgidae

3) Silicon and oxygen
ANRR 9.° 2F6RR

4) Aluminium and iron
QAN IQ° RS

Correct Answer: 3) Silicon and oxygen
ANRR 9Q° 2F6RR

Candidate Answer: 1) Silicon and iron
ANRR 9G° 2IRQQ

QID : 882 - K, or Godwin Austin, the second highest peak of the world belong to

Kz @l 00299 230, 39a 3019 26919 ddia
Options:

1) Purvanchals

galge gee

2) The Karakoram range
PACKRIANUCT QS

3) The Hindukush

@999

4) Andes

aGe

Correct Answer: 2) The Karakoram range
@AUERIAUCT QA

Candidate Answer: 1) Purvanchals
galge gee

QID : 883 - The country with which India shares its shortest border is

Odisha Teacher Eligibility Test

Q 23R

699 69900 ATe QUG P10 A°FYRE Q1A QUG F6Q FIR! 62! |
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Options:

1) Pakistan
a[[=allay

2) Bangladesh
QIPRICQE

3) Bhutan
QOIR

4) Afghanistan
TR

Correct Answer: 4) Afghanistan
ATFAR

Candidate Answer: 2) Bangladesh
Q°@IEQE

QID : 884 - Which one of the following is a fibre crop?
FIRYS 6296 QG 0F FIGIA TAN?
Options:

1) Rice
i@

2) Maize
1@l

3) Wheat
319

4) Jute
Y

Correct Answer: 4) Jute
6QIe

Candidate Answer: 2) Maize
el

QID : 885 - Which of the following planet is called the “Red planet”?

FINYR gaa @45 "R ge" g2l §97?
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Options:

1) Jupiter
Qeqbge
2) Earth
Qe

3) Mars
Clerem

4) Neptune
629979

Correct Answer: 3) Mars
e

Candidate Answer: 1) Jupiter
QeeGge

QID : 886 - Light year is a unit of

ZIeRIe oF Q Qee
Options:

1) Mass
QIULR

2) Temperature
QARG

3) Pressure
Qld

4) Distance

qag

Correct Answer: 4) Distance

qag

Candidate Answer: 1) Mass
QAR

QID : 887 - The instrument that is used to measure the intensity of an earthquake is

QAR%EQ G196 JBIA ARSI IR ARG 996 29 Gl 62 |
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Options:

1) Richter scale
AQQ 6@

2) Mercalli scale
QAR 624

3) Seismograph
QOATR(6AREIFICr)
4) Barometer
qleqIfica

Correct Answer: 2) Mercalli scale
AIAR 62

Candidate Answer: 4) Barometer
QleQUfieR

QID : 888 - Great Victoria desert is found in
695 @6 ﬂ@@ﬁ 6Q & Al
Options:

1) Africa
2Ig!

2) Australia
aeamell

3) USA
2O

4) Russia
Qdel

Correct Answer: 2) Australia
2egmall

Candidate Answer: 4) Russia
gdell

QID : 889 - Which one of the following is a depositional landform?

3R F609G ARG MYISTH?
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Options:

1) Sinkhole
daealm

2) Gullies
gmINg

3) Cave
kil

4) Beaches

]Q Q@

Correct Answer: 4) Beaches

aqe 9%

Candidate Answer: 4) Beaches

19 Qo

QID : 890 - Nomadic herding is practised in which of the following regions of the world?

2RI RIS 699 ABR6A AIYIAR AR ARG §49?
Options:

1) Arid and semi arid
GV 9Q° I GREQ

2) Hot and humid
AQE! 4e° 2G

3) Cold and wet

0Ig 6 6R%|

4) Swamps

SRIQE

Correct Answer: 1) Arid and semi arid
GV 9Q° 2RI Y6

Candidate Answer: 1) Arid and semi arid
GV 9Q° I GR6Q

QID : 891 - Shifting cultivation is known as Jhumming in which of the following regions of India?

FIBQ FIFIFIQ VIAQ FARYE P ASREQ FA° Q6 AGE?
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Options:

1) Central India
Ry QR

2) Northwest India
RQ@Q-JEC QIS

3) Southern India
QZé Qe

4) North East India
Qa9 9 9I9e

Correct Answer: 4) North East India
Qa9 9 V9%

Candidate Answer: 2) Northwest India
elaloNa it Ealiala

QID : 892 - Which of the following crops is a cereal crop?
FARYES SYYPRQ F1-IEQ 696 YRV, FAR?
Options:

1) Jute

619

2) Wheat
Qe

3) Coffee

@

4) Sugarcane

211

Correct Answer: 2) Wheat
Qe

Candidate Answer: 4) Sugarcane

2y

QID : 893 - Hindon river is a tributary of

RPN RQ1 QAT S Q1
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Options:

1) Ganga river
QEPl @1

2) Chambal river
YR AQ1

3) Yamuna river
QAFR A1

4) Mahanadi river
ALI9QT @1

Correct Answer: 3) Yamuna river
QAGR A1

Candidate Answer: 2) Chambal river
R AQ1

QID : 894 - The main mineral constituents of mantle are

AYAEQ R HEIP AAIRIRYER |
Options:

1) Silica — Alumina
el - 214!

2) Silica — Ferrous
dne! - 60

3) Nickel — Ferrous
[6am - 60

4) Silica — Magnesium
AnQI- gIoeadale

Correct Answer: 4) Silica— Magnesium
AnQI- GIoeadale

Candidate Answer: 2) Silica — Ferrous
el - 60aQ

QID : 895 - The gas that is found in abundance in air is

QIZEQ o aRcI86a 69 QIQ §F QN oI 62l |
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Options:

1) Oxygen

AG6ee

2) Carbon dioxide
QA - QIR - AFIAR
3) Nitrogen
QREQIELRE

4) Helium

QIR

Correct Answer: 3) Nitrogen
FIRETCRE

Candidate Answer: 1) Oxygen
FeaR

QID : 896 - lonosphere is a part of

2I6IERIF2AR QKRG 2T
Options:

1) Mesosphere
6716122

2) Stratosphere
alesidea

3) Thermosphere
aleridaQ

4) Troposphere
F6aIF2AR

Correct Answer: 3) Thermosphere
aleAidaQ

Candidate Answer: 4) Troposphere
FeaIFIAR

QID : 897 - Low pressure is associated with

Faela Q AFEQ 221

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

69/71



10/8/2019

Odisha Teacher Eligibility Test
Options:

1) Cloudy skies and wet weather
61512l 2RISR Bl Qe

2) Clear skies and hot weather
TR 2RI IL° QT AISAG

3) Cloudy skies and hot weather
60192 RIS NQ° Gl Qlsiale

4) Clear skies and wet weather
JAFIQ RIS IL° BIAIEAIS!

Correct Answer: 1) Cloudy skies and wet weather
61512l 2lIRIG Q° GQ Qlgiae!

Candidate Answer: 2) Clear skies and hot weather
JAFIQ AR IL° FIQE AIEAIG!

QID : 898 - The temperate grasslands of North America are known as

Qe RN AIBAESIB IR 2196 9QGQ!
Options:

1) Praries

gaees

2) Savannas

il

3) Downs

Qg2 990 eepd

4) Velds

69RIGa

Correct Answer: 1) Praries
Y69

Candidate Answer: 1) Praries
Y64

QID : 899 - How much area of Odisha is covered by forests?
BG9IQ 6060 SR ARIER QI AQE?

Options:

1)1/2

2)1/3

3)1/4

4)2/3
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Correct Answer: 2) 1/3

Candidate Answer: 1) 1/2

QID : 900 - In which part of Odisha coastal plain is Chilka Lake found?
624 QARG ATRTQ R 2°E6Q TRRI 2@ FF QAIN?
Options:

1) Eastern
ge

2) Western
adiel

3) Northern
RQRAAZRS
4) Southern
S

Correct Answer: 4) Southern
S

Candidate Answer: 4) Southern
S
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